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5. One and only one circle is to be fully blackened for answer. Any spot in any other circle (multiple
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1. AandB start from the same place and travel
in the same direction, B starting 2 hours after A. If
Atravels 40km/h and B travels at 50 km/h, how far
will they have travelled when B overtakes A?

(A) 400 km
(B) 200 km
(C) 500 km
(D) 100km

2. If % of my pocket money is ¥ 60; then the

total pocket money I received was
(A) T100
(B) T 120
(C) T150
(D) T 180

3. Slavery was abolished in India by an Actin
(A) 1829
(B) 1833
(C) 1843
(D) 1858

4. What is the primary factor that determines
the pitch (frequency) of a sound produced by a
musical instrument?

(A) Volume of the instrument
(B) Length of the vibrating part

(C) Material from which the instrument is
made

(D) The instrument player’s skill level

5. An 12 metre flag pole casts a shadow

15 metre long. If a flag pole is 20 metre long then

the length of the shadow be
| (A) 25'metre
(B) 60 metre
(C) 30 metre
(D) 22 metre

1. A 43R B 9T @A (AT IR 458 T T
oF T4 5% B 19 ©F @ A-99 T 9F [
2 %! #4731 3% A9 sifSrrst 40 RS/ 9%1 w3 B9
sifstaet 50 /9%t 28, o1 T 379 I B, A-&
B A ?

(A) 400 =h
(B) 200 ff
(C) 500 &
(D) 100 Rf

‘l'll:]i,v‘,i 'ty
2. of S oA %ww‘&ﬁoﬁmw

i 4T colrafeE
(A) 100 Bt
(B) 120 B
(C) 1505t
(D). 180 i

3. @ N W M eNTe Wl
e =
(A) 1829
(B) 1833
(C) 1843
(D) 1858

4. <% YT A Bestiiro Gl o s
T Rdws @ e A T e
(A) TS TS
(B) ~ifFre S e
(C) @ Tolmiv (A 7Y (ofF @R
(D) THGETG (AANEE THOIF W

5. <5 12 fiora o1 Aemat 15 foR =
wt@ﬁmlnﬁaﬁﬂ@mﬁmzoﬁ%ﬁwm
O(F OIF =i 0 =

(A) 25 [
(B) 60 Rt
(C) 30T%E
(D) 22 5=



6. RTE Act was implemented in India with
effect from

(A) 1st April, 2009
(B) 1st May, 2010
"(C) 1st April, 2008
(D) 1st April, 2010

7. The leaf size of vegetation is a function
of—

(A) Temperature
(B) Moisture Availability .
(C) Altitnde
(D) Temperature & Moisture both
) "
8. The President of the Swaraj Party was
(A) Motilal Nehru
(B) M. M. Malavya
(C) Chittaranjan Das
(D) M.R.Jayakar

9. Ata certain school, there are 320'boys and

L
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6. OIS SRR iR ey T zatee
(A) 1st April, 2009
(B) 1st May, 2010
(C) 1st April, 2008
(D) I1st April, 2010

7. eﬁi‘?ﬂ?ﬁ?ﬁ'@ﬁwm?ﬂ—
(A) St
(B) Si¥e! elteret
(C) Twe!
(D) SieIAl G Yl TS

8. A% oA TS e
(A) e (Tees
(B) ‘@3 g MY
(C) Toezem v
(D) 9%, E. TTFF

-

9. b TS ==, 320 o AT @] ISOW

180 girls. The average absenteeism rate/is 6%% qiferet =Mtz | W o SriRfeT g 6= 7%
for boys and 8%% for girls. What isthe average | @<t SR 83 Lo, {0 FE IS Wi"ff‘iﬁ? TR

absenteeism rate overall for the school? TEY? .
(A) 8% (A) 8%
®) 7% ®) 7L
5 ) T5%
©) 7% ©C) 7%
(D) 6= D) 61
3 o (D) 3 o

10. Brahmaputran'ées in Tibet whereitis known
as

10. FHeER Seofewe foTe, G ot @

A “ARB—

(A) Tsangpo (A) it

(B) Megna

(C)} Rakasthal (B) Grort

(D) Yamuna (C)W
(D) T
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11. The compound interest for ¥ 4,800 for
2 years at 5% per annum compounded annually is

(A) T492
(B) 5,292
(©) T229
(D) T5,390

12. The Indian Fisheries Act was enacted on
(A) 1897
(B) 1899
(C) 1882
(D) 1984

13. The doctor ordered Riya to take tablets
every 9 hours. If she took the first tablet at 11 AM
at what time Riya take her 8th tablet?

(A) 5 AM
(B) 8 AM
(C) 11 AM
(D) 2 AM

14. For 18 days of work a man is paid ¥ 1,530.
For 30 days how much will he be paid?

(A) €2,380
@) 2,500
(C) 2,580
(D) T2,550

15, Taps A and B fill a tank in 4 hours and
6 hours respectively. Tap C of the tank empties in
12 hours. If all 3 are open, how long will it take to
fill the tank?

(A) 5 hours
(B) 5.5 hours
(C) 3 hours
{D) 3.5 hours

A-4

11. 3T 5% 20F 4,800 51K 2 I 55 I
I

(A) 492 B
(B) 5,292 B
(C) 229 %=t
(D) 5,390 GrFt

12. SEOR W7 WiRA 2T 27 @I AE?
(A) 1897 "
(B) 1899 el
(C) 1882 A=
(D) 1984t

13, GieRR e Fos fafks 9 9% sw
83y e | 3 7 2w 89y Wi 11 5 B UieE
o149 8-5F SFuls F01T F<?

(A) 3t 551
(B) A<l 8 B
(C) =& 11 51
(D) =g 2 ®E

14. =l @5 18 e Fhe U 1530 B
17 | ©F 30 AR T T© Oi AN P

(A) 2,380 BiHt
(B) 2,500 Bt
* (C) 2,580 5=t
(D) 2,550 Bt

15. aﬁcﬁam@AeBzﬁaanww%‘f

'@ 6 TBH =1 | 7 C GIAmie 12 95t A

| AW o6 we1 @A CAE 27 SF T
ramsif <jd =7

(A) 59!

(B) 5.59%1

(C) 3 9%t

(D) 3.5%9%!



16. In asale, on a washing machine marked at
37,500 a 20% discount was given. The owner still
makes a 20% profit. What was the machine
originally cost him? :

(A) 5,000
(B) T 6,800
(©) T5,500
(D) 6,000

17. By sellin;g a complit_er for¥ 36,000, adealer
makes a20% profit on the cost price. At what price
should the computer be sold to make a 25% profit?

(A) ¥37,500 : i
(B) ¥ 38,000
(C) 38,500
(D) 39,000

18. The greatest 4-digit number whichis a
perfect square is

(A) 9999
(B) 1000
(C) 9801
(D) 9900

19. Sum of the all factors of 24'is
(A) 12 '
B) 36
C) 48 .
(D) 60

20. A car is travelling at a speed of 70 kmvh.
What would be the dlstance travelled by the carin
24 minutes?

(A) 28 km
(B) 35km
(C) 30km
(D) 25km

CMRI/22

16, 9% G, 7, sooﬁmmmwﬁ\mﬁm
©5iF 20% WIS (e 2foza | W 998 20% =
Qfes | MR eRfR GIRNTG T et R e

(A) 5,000 it
(B) 6,800 5
(C) 5,500 51t
(D) 6,000 SIFt

17. <36 FFE6 36,000 5 i [/fF =
GFE eI T 20% e A1 25% e
waﬁv@mﬁwmﬁﬁﬁwm?

(A) 37,500 Biw
(B) 38,000 Gim
(C) 38,500 GIo™
(D)139,000 Gi=E

18. 4 wiCEa gEe o Wi ==
(A) 9999
(B) 1000
(C) 9801
(D) 9900

19; 24-93 T QYNNI @oHF T
(A) 12~
(B) 36
(C) 48
(D) 60

20. @35 sifem afstas == 70 f/aw,
24 s WWWWW?

(A) 28 [
(B) 35 &M
(© 305
(D) 25
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21. Fundamental Rights contained in Part Il of
the Constitution of India is in

"(A) Articles 12 to 35
(B) Articles 12 to 32
(C) Articles 36to 51
(D) Article 51A

22. Find the value of a car bought for< 2,50,000
if it depreciated at 20% p.a. after 3 years,

(A) ¥2,00,000
(B) T 1,20,000
(C) T1,28,000
(D) ¥ 1,30,000

23. In a federal system power is—
(A) Shared
(B) A monopoly
(C) Non-existent
(D) Held by a group of dictators

24. What is the medical term for a low platelet '

count in blood?
{A) Thrombocytosis
(B) Thrombocytopenia
(C) Haemophilia
(D) Leukocytosis

25. The Blue Water Policy was associated
with
(A) Vasco da Gama
(B) Fde Almeida
(C) Albuquerque
(D) Alfonso de Souza

e ———————

A-6

21. ©red FRYITE i -9 @KW GNes
wiEwiEs Reees IEE—

(A) SER 12 (AT 35
(B) SvaR 12 (ATE 32
(C) SRR 36 (AT 51
(D) =R 51A

22. % 936 SiIf% 31 =T 2,50,000 B @<
a6 &S Teg 20% 7T ZP “IfF, O 3 T2H AT 97
o] Fo =217

(A) 2,00,000 B
© (B) 1,20,000%
(C) 4,28,000 Bt
(D) 1,30,000 St

23. JEAIRN IR TS| UT—
(A) =I5 T
(B) <ot
(C) Se=
(D) 9% CFFIET Qo

24. AT T (AGED AL DiFeicg I T=
¥qe

(A) LTI
(B) YTl
(C) iRl

(D) TSR

25. e o Aol i T& T
(A) =ieE =t st
(B) 9% & Stewigel
(C) TR
(D) SEEwET & et
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26. Find thcl value of x if 5 is written in the form

2+i2'
1+=
X

(A) 3
(B) 2
©) 6
D) 8

27. Viticulture is related to the-cultivation of
(A) Apple
(B) Orange
(C) Grape
(D) Wheat

28, Phillip and Kevin made 60 paper flowers. If
Phillip made 3 paper flowers while Kevin made 2,
then how many did Phillip make?

(A) 36
(B) 24
() 30
(D) 20

29. Inasaleallitems pricearereduced by 25%.
If a customer paid ¥ 6,750 for a sound system,
then what was the regular price of the sound
system?

(A) T 27,000
(B) Z20,250
(C) T9,000
. (D) 5,400

30. In a multiple choice test, 8 marks are
awarded for each correct answer and 5 marks are
subtracted for each incorrect answer. If after 26

questions are answered, Raghu scored 0, how

many questions did he answer correctly?
(a) 13 :
(B) 10
© 15
(D) 18
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26. x~a3 S F6E Fcal 799 5-F G -

2+—42-
1+=
X

(A) 3
®) 2
©) 6
D) 8.

27. Viticulture (8 51T ALY 574ifFo Gif6 =i —
(A) SHTofa
(B) T
(©) =g
(D) (At

28. Torferst = it et 60 T <otsivers w1 (o
3 137 el 3 6 lsiuera et ool e T4 (e
2 fB'0efd 9, o Fferel ils -0 Sisiters T tofR
PEAR?

 (A) 36
(B) 24
(©) 30
(D) 20

29. 4T @A W9 GRER wWe 25% 9o el
ozt | gz <RI 6,750 DI i AITS o

Wﬂmmﬁﬁﬂ@ﬁ@mwﬁﬁ?

(A) 27,000 Bid
(B) 20,250 5101
(C) 9,000 Bi=
(D) 5,400 Gt

30, 9B R e AR ol D

| T T 8 T (RETI T . 2 v Serma ey

5a o1 e | W 26T At Tew TR A9 T
T 0T, O Foaf 2w Sen o7 Afds wfeee
(A) 13

(B) 10

© 15

- (D) 18
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31. Which Vitamin is known as Riboflavin?
"~ (A) VitaminB,

(B) VitaminD

(C) Vitamin C

(D) Vitamin A

32. A man and his son set out for a walk. The
boy’s average step is two-third of his father’s. If
the father has taken 120 steps find how many does
the son take?

(A) 60
(B) 80
(C) 100
(D) 120

33. The best way of providing value education
is through
(A) discussions on scriptural texts.
(B) lectures/discourses on values.
(C) seminars/ symposia on values.’

(D) mentoring/ reflective sessions/on
values.

34. Information Technology (IT) Act, 2000
came into force on

(A) 17th October, 2000
(B) 9th June, 2000

(C) 1stJune, 2000

(D) 1st October, 2000

35. Under which Article of the Constituyion of
India can an individual move the Supreme Court

directly in case of any violation of Fundamental
Rights?

(A) 13
(B) 14
©) 32
D) 34

31. o febifim Rraizfen e <o
(A) TSBIRE B,
B) feoifm D
©) fooifEm C
(D) fSbifm A

32. G (AP Q3R OIF (2 2600 (1 W 1 (=T
S1G 41 OfF Helg AT dies gR-gemet | I et
120 T i+l (73, S oG Fould 4iv @i e

(A) 60
(B) 80
(C) 100
(D) 120

33, EAAR Bl el e Soi/aiew
=

(A) Il itay e emesat |

(B) TECERAT S TGl &Aie |

(C) TR T EIRmm a1 Piosiifeat |

(D) FUCIICHE BT GFORR A S T~
afe%ie erm |

34, o9 =& wizw, 2000 TT TAR—
‘(A) 17th October, 2000
(B) 9th June, 2000
(C) 1stJune, 2000
(D) 1st October, 2000 -

35. OIRSA HRUITTR (I S S RA (NP
SR wEEs (g gvew IfE TR
RO (TS AT ?

(A) 13
(B) 14
() 32
(D) 34

oL



36. Write the next term of th_e series.
5,11,19,29, ...

(A) 39
(B) 41
(C) 40
(D) 42

37. Archipelago is
(A) the shallow part of the sea.

(B) the slowly moving mass of ice-down
a mountain.

(C) the ring shaped coral reef.
(D) a group of islands.

38. Rakesh sold his bike at a loss of 209, If he
sold it for ¥ 5,400 more, he would have solditata
10% profit. How much did he pay for the bike?

(A) ¥ 18,000

(B) Z 10,000 |
(C) ¥20,000 RN
(D) ¥22,000

39. The Parliament of India consists of
(A) Lok Sabha
(B) Lok Sabha and Rajya Sabha
(C) President and the two Houses
(D) Prime Minister and the two Houses

40. Rohan took a loan of ¥ 1,500 with simple
interest for as many years as the rate of interest. He
paid ¥ 240 as interest at the end of Ioan period. Thus
the time period he has taken to return the loan is

(A) 4 years :

(B) 16 years

(C) 8 years .
(D) 2 years Lo

A9 CMRI/22

36. = Aaael 7o e |
5,11,19,29, ...

(A) 39
(B) 41
() 40
(D) 42

37. Qstele ==
(A) IS S5O WA |
(B) #if2ICSR oMl TR AT A A B
9]
(C) T =iz o=t b |
(D) BRI ER G W |

38. AT RGO E 20% =iers [Rids
PR | A fol Sae 5,400 Bist @R e o
B 10% e TS “itgren | o Fo BigE R
clivgE [etferem ¢

(A) 18,000 B
(B) 10,000 Gt
(C) 20,000 St
(D) 22,000 5

39, SITed W 4I5S TEE—
(A) FEITe!
(B) el @ AremTet
() TGRS @3 73 WTH
(D) g @2 72 28w

40. ¢ 1,500 BiR g % 4K e 1=
T ) 902 MR I 2 o, 240 B o e
G HI= G <, oL S 4171 (o1 T STa(s 28

(A) 43=7
(B) 16 3=
(C) 8<=ma
, (D) 27

Dlanca Thier & hero o
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41. The habitat of the Toda tribe is
(A) Aravalli Range
(B) Siwalik Range
(C) Kaimur Range
(D) Nilgiri Hills

42. Which Indian state recently announced a
Universal Health Care Program providing free
medical treatment to all residents?

(A) Maharashtra
(B) Uttar Pradesh
(C) Kerala

(D) Tamil Nadu

43. The value of a new car is ¥ 4,00,000. If in
the first yearits value is decreased by 10%, find the
value of the car in the beginning of the second
year?

(A) T3,96,000
(B) ¥3,00,000
(C) ¥3,60,000
(D) ¥3,20,000

44, If the combined daily wage of 5 men is
¥ 3,750, how much will 20 men earn in a week?

(A) T2,05,000
(B) T 1,25,000
(©) T 1,05,000
() T 1,50,000

45. A square PQRS is drawn on a paper and it
was folded in half to form arectangle of perimeter
30 cm. Then the perimeter of PQRS is

(A) 15cm
(B) 60 cm
(C) 50 cm
(D) 40 cm

A-10

41. (o1l Gotwifog SERTE o=
(A) =R @g
(B) Mafe® g
(C) 7 @&
(D) =R A

42, STST @W T TS g BeFeriH
(e (T CRANST (TN A, T T e
Ry Bfeel amie 3 2

(A) =g
(B) Tameiond
(C) &A=

(D) sl Emrg

43,/ i T AT =7 4,00,000 Bt | 7R 29w
T=2(A AT T 10% T W, O} Hom IR
e ANf%T Ty T @A

(A) 3,96,000 Bl
(B) 3,00,000 B
(C) 3,60,000 B!
(D) 3,20,000 G

44. M 5 &9 @ @6 A TR MfEA =0
3,750B15, 20 T (I G ALNE TS ([T FAI Y

(A) 2,05,000 B
(B) 1,25,000 Bt
(C) 1,05,000 Gt
(D) 1,50,000 st

45. Wioiget @FB PQRS 350w idt & @
ot ST g FF @I 30 G AfRRRES
TEE 0o 1 27 | O PQRS-9F +Hf3fd 2=

A 15&R
(B) 60 Gifd
(C) 50 G
(D) 40 G

e ———
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46. 55% of the population of a city are male,

25% of the male population and 20% of the female
population are under 21 years of age. If the
population of the city is 10,000, find the ratio
between the total population of males and females
who are under 21.

(A) 55:36

(B) 11:9

) s5:1

(D) 5:4

47. A tap drips water at a constant rate of

0.03 ml per second. How many litres is that per
day?

(A) 2592

(B) 0.2592

(C) 0.1080

(D) 2.592

!

48. The ratio of girls to boys who voted in the
electionis2 : 3.If 10more girls and 5 more boys were
voted, thentheratiowouldhave been3 : 4. Hencethe
total number of students voted altogether is

(A) 325 ~
(B) 235
(©) 125
(D) 532

49. The geological period to which major coal
deposits of the world belong is—

(A) Cretaceous
(B) Jurassic

(C) Devonian
(D) Carboniferous

A1l
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46, X (N0 EPRYIT 55% B 79, o4
TRAF 25% 32 TRAN AR 20% = 21 I=EI
S5 | A =zrma @6 Gt 10,000 28 W& 21
A NG 579 ¢ WA TR Sgotts {7 Fet |

(A) 55:36 :
(B) 11:9
€ 5:1
(D) 5:4

47, 3 7 (4t B9 R 0.03 AR w=
A GRS 918 o1 &fofn T© Foig #ite?
(A) 2592
(B) 0.2592
(C) 0.1080
(D) 2.592

48. (WH 9% (FEWE Wi e ool
TS Z& 2319 10 T (N 9 5 T &
e (ol S O S T8 3: 41 o=@ @b
Coionre! waRidiey! 2

(A) 325
(B) 235
(C) 125
(D) 532

49. Re4R 24m e i Tl (@ ARt
wgofe b z—

(A) i

(B) T

(C) corastfme
(D) PHiNCER
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50. A container when half full holds 3.6 litres.

How much more fluid is needed to make it % full?
(A) 7.2 litres
{B) 4.8 litres
(C) 1.2 litres
(D) 2 litres

51. The area of a square park is equal to that of
a rectangular field of length 96 m and breadth
54 m. The length of the side of the square is

(A) T2m
(B) 94m
(C) 68m
(D) 80m

1

52. 20% of a number is equal to —, then the"

_ 30°
original number is

@) =

(B)

6
1
3
1
© 5
1

53. Twotrainsare travelling towards each other
on adjacent tracks. The first train is 86 m long and
is moving at 120 km/h. The second train is 64m
long and is moving at 150 km/h. Find the time that
elapses from the second that the trains first meet
until they completely pass each other.

(A) 5 Sec
(B) 2 Sec
{C) B Sec
(D) 10 Sec

A-12

50. W5 #fg T EHT ©fS 77, B4 3.6 o
Wﬁwmﬁw%wwwﬁmwmw
IO OHe IS 2

(A) 7.2 o
(B) 4.8 &=
(C) 1.2 Fom=
(D) 2 &

51. GBI AET ez AT G0 TSI
A QT e 96 WoIm e %8 54 ook craweEa
S | st AEa =l e e =

A 721 a
(B) 94
(C) 68F
D) 80

52. 3% SR 20% % A, SE TN T
() =
®)

(©
D) 1

53. 4 (G AP e T WA A
(TR | 2% GAfod T 86 Toie W3R =it
120 Ryt o Gaba o 64 for @R
sifecas 150 BR/a% T cwe A3 Gef
e Tfei wiee™ Faa?

(A) 5CTES
(B) 2 CTS
(€) 8 CRTS
(D) 10 CTTS
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54. District Primary Educanon Programme
(DPEP) was started in

(A) 1990
(B) 1994
(C) 1998
(D) 1956

55, The Lst Woman President (1917) of Indian
National Congress Party was

(A) Annie Besant

(B} Sarojini Naidu
(C) Nelle Sengupta
(D) Aruna Asaf Ali

56. Epigraphy is—

" (A) The study of inscriptions
(B) Graphical Map
(C) The detection of epics
(D) The study of epics

57 Who is regarded as the Father of Algebra?
(A) Al Khwarijmi
(B) Aryabhatta
(C) Ramanujan
(D) Pythagoras

58. ‘Ignited Minds’ is authored by
(A) Vandana Shiva
(B) Chetan Bhagat
(C) Arundhati Roy
(D) ‘A. P.J. Abdul Kalam

Ao
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54, ool A Frm (DPEP) anmwzzzr
(A) 1990 it
(B) 1994 A
(C) 1998 &

(D) 1956 A

¢

55, m@w@nm@mﬁaammwﬁ
(1917) fere=

(A) =iife ARG

(B) R A2E
(€) ¢ifet GFed
(D) SN EIE SR

56. Epigraphy T&1—
(A) P=ifete sara
(B) aifEreiet wiwlbg
(C) TR AT
(D) TP TR

57. T AIfA0ed TS <ol AL
(A) oiw et
(B) WifeE ~
(C) Timieee '
(D) fotiestims

58. ‘Ignited Minds’ 32 w1l fiRe?

(&) T B

(B) FeA NS '
(C) TFFo! AW .
(D) aﬁﬁww .
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$9. Godaan was written by
(A) Rabindranath Tagore
(B) Munshi Premchand
(C) Sahajanand
(D) Aurobindo Ghosh

60. The motto “Satyameva Jayate”-Truthalone
triumphs is written in -
"~ (A) Devanagari Script
(B) Kharosthi Script
(C) Gupta Script
(D) Kalinga Script

61. Tirthankara means—
(A) Three knowledgeable people
(B) The third World
(C) Ford Maker
(D) A liberated human being

62. If 3 cans of dog food will feed\2 dogs for
1day, thenhow many dogs can'befed from 42 cans
for 4 days?

(A) 6
(B) 5
©) 7
D) 8

63. Rahul can dig the garden in 30 minutes,
while his father takes 20 minutes. How lonig should
they take if they work together?

(A) 10 min
(B) 12 min
(C) 15 min
(D) 6 min
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59, ‘oM BT
(A) ¥ 5ipa
(B) A cembin
(C) zEw
(D) wrafs= @

60. TSI ‘T TN’ T Y AR

(A) -(rateig) ffe-co
(B) <A@ fEfe-co
(C) wd Fisics

(D) <l Ffdhce

Q

61, SidFa AT—
(A) e @At oy
(B) v e
(C) @IS faattet
(D) e SR TqF

62. W 316 T I GO (R B T
1 W3 <isaat 3w, o 420 @& fan
4 Tiw ToulH THUCS deT I
(A) 6
(B) 5
© 7
(D) 8

'63. waﬁmﬂh{tﬂssoﬁﬁ%mmw
O AR 20 HifG ART=1s | SR G IS FAE
TS HAH #i5iw 2

(A) 10 f2f"G
(B) 12 %
(C) 155
(D) 65
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64. Wind rose diagram is used to represent
which of the following?

(A) Duration of winds only

(B) Flows between central places and
dependent places

(C) Wind directions and duration
(D) Directions of winds only

65. If ¥’ = 3 then the value of x* — 25 is
{A) =13
(B) 30
(C) 56
(D) -15

66. Which Viceroy introduced Cooperative
Society in India?
(A) Lord Curzon ;
(B) Lord Wavell
(C) Lord Ripon
(D) Lord Cornwallis

67. Who among the following can be removed
by the President without Parliament’s resolution?

(A) Judge of a High Court

(B) Governor of a State

(C) Chief Election Commissioner

(D) Comptroller and Auditor General.

68. It costs of a family of two adults and three
children ¥ 2,800 to go to a show. If a child’s ticket

cost .—,12- of the price of an adult’s ticket, then the

cost of an adult’s ticket is
(A) T 600
(B) T 800
(C) 500
(D) X700
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64, ©IT @IS GMAT MNoa @0 SR
TR IS 2
(A) S O THIIE
(B) @AF TW 4R RS e g
&#q1z
(C) I fiT @3 AT
(D) oY ISieE T

65. M x’ =3 W, O 1V - 25-97 AN A
(A) -13

(B) 30
(C) 56
D) -15

66. (@ Viceroy ST I RS w,
PR ?
(A) o6 Fiei
(B) =76 ¥ites
(C) =76 fom
(D) =16 Ffexfr

67. AR (G Te AR Hone I
AR FACS AT 2
(A) TG Rorasife
(B) =0 Sewe
(©) @i ffew 3fxieg
(D) e 9= SfEsT I

68. TE 2ATET G fomem Pag uafe amiRt
O T 2,800 BiR <l == W <ol R
S T, ST T 2 G BRI 0 =

(A) 600 Bt '
(B) 800 Bt
(C) 500 Bt
(D) 700 %=
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69. How much water must be added to 8 litres
of a90% acid solution to make a 75% acid solution?

(A) 1.5 litres
(B) 1.4 litres
(C) 1.2 litres
D) 1.6 litres

70. What is the week’s wages earned by a
person who gets ¥ 3,700 per week plus 2%
commission on the sale of goods in excess of
¥ 1,00,000, if his sales total is ¥ 2,40,0007

(A) 8,500
B) ¥ 4,800
(C) T6,500
(D) ¥2,800

71. A petrol pump can hold enough petrol to
supply 80 cars with 35 litres each. Hence the
number of cars it can supply with 50 litres petrol
are

(A) 50
(B) 56
(C) 60
(D) 66

72. Ravi has an average of 93 on 2 maths tests.
What minimum marks does he need on his next
tests to bring his average up to 957

(A) 96
(B) 99
(C) 98
(D) 95

73. A woman reduced her weight from 95 kg to
76 kg. Then the decrease per cent is

(A) 18%
(B) 9%
(C) 20%
(D) 10%
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69. «fG 8 FBITa™ 90% HifFe ARTERE 75%
1T AT T TS 61T o (@19 TAS A ?
(A) 1.5FmM
' (B) 14 FER
(C) 1.2 o=
(D) 1.6 fioia

70. «FG AfET AR TR FO S, W &R
3,700 511 9 &S AR AW G218t 1,00,000 513
@™ 4o fAfera Soiw 2% ThMiA AW, 3 W @io
2,40,000 51&1F 5 i w=ae

(A) 8,500 %1
(B) 4,800 5t
(C) 6,500 B
(D) 2,800 Gt

71, G CIGEE A 8016 i 35 ebra <a
(ORI FHRIE FIIT S0 L I Sz |
AGINR CAG 2Arifs Toel it 50 FHE =
GG s SR, OF At

(A) 50
(B) 56
(©) 60
(D) 66

72, IR 4 OF SASHIF AT 7T T 93 | A
AT FAAT T TIF (AT OIF 518 7FF 95 AL
(A) 96 '

(B) 99
(C) 98
(D) 95

73. T AE OIF 8T 95 (BT (AT T
76 (R AT | I W] G g &
(A) 18%
(B) 9%
(C) 20%
(D) 10%



74. Every morning Raj jogs to his work 8 ki
away at a constant speed of 12km/h. How much
time is saved if he cycles one morning at a speed
of 20km/h?

(A) 24 min
(B) 40 min
(C) 16 min
(D) 12 min

75. Fourwomen, A,B,CandD invested money
in the ratio 1:4:7 : 8 in their business. Their
profits were distributed according to their

investment. If after one year C’s share of the profit -

was ¥ 35,000, then the B’s share of the profit was
(A) 5,000
(B) ¥20,000
(C) 25,000
(D) ¥30,000

76. Ramesh is 16 years older than Suresh.
20 years later Ramesh’s age will be four times'the
present age of Suresh. The present age'of Ramesh
is

(A) 12 years
(B) 28 years
(C) 36 years
(D) 32 years

77. Find the value of

1, 69x67
68 68 -
A1
(B) -1
0
(D) 68

-69

78. Mariana Trench is located in which ocean?
(A) South Atlantic
(B) North Atlantic
(C) ‘West Pacific”
(D) East Pacific
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74, effefa e qrer 8 R i ea s
12 Rf5r/ %% 3= sifere it ones TF |« s/
e 20 /9% @t‘»‘iﬂfi@?{sﬁm (SIET O T©
g 60 ?

(A) 24T 6
(B) 40 ff+5
(©) 16 ff%
(D) 12 "5

75. A, B, C 4 D, 517 & T 1:4:7: 8
AT B R Sw oIt @01 Qe |

O AT AR St Tl 77 Ot Bt RRaes

TS | Al @F ' o C-97 =ved S =
35,000 51!, O B-47 ited sifsse 33

(A) 5,000 Gt

(B),. 20,000 Bt

(C) 25,000 51t

(D) 30,000 Bt

76. ST AT (AT 16 IR0 0T, 20 A 71
WWWWWM%‘TE@IW
TEI T 2

(A) 129=8
(B) 28 T=d
(©) 367
(D) 32 T=F

77. W e sE—
1 69x67
63 68
“(A) 1
B) -1
© 0
(D) 68 -

78, A G (P I SRS
(A) wEt SBafoe
(B) %eg wivenfoe
(C) ioa il
(D) < 2
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79.

80.

The Harappa Age is also called the
(A) Stone Age

(B) Iron Age

(C) Ice Age

(D) Bronze Age

The government established the University

Grants Commission by an Act of Parliament in the

year

81.

82.

(A) 1980
(B) 1948
(C) 1950
D) 1956

What is the chemical symbol for Silver?
(A) Au
(B) Ag
(C) Cu
(D) Mg

What is the primary function of the human

kidneys?

83.

(A) Digestion .

(B) Filtrationof blood and waste excretion
(C) Oxygen transport

(D) Regulation of body temperature

Who was the founder of Pala Dynasty?
(A) Gopalal
(B) Govindapala

~ (C) Shurapala

(D) Divapala
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79. WA YN Joe T
(A) 2% '
(B) R
(©) <
(D) =g

80. DI (I FC T G0 SRS M
Refiern g shrA 2w w2
(A) 1980 ‘
(B) 1948
(C). 1950
(D) 1956

81, T TP 2Ol e
(A) Au
(B) Ag
(C) Cu
(D) Mg

82. SRCa fFelvg el Fiw 912
(A) T A
' (B) % REIRY @3k e Fefw
(C) wIRee Afe<=d
(D) =g ool g

83. i wiERea afedret ¢ a2
(A) il ST
(B) csitfRmelis
(C) =l
(D) =i




’9 1].
Zr12= =9
84, 4{ 116+122J !

(A) 50
B) 45 .
(C) 55
(D) 30

85. Who propounded the motto “Goback to th
Vedas”?" ‘ .
(A) Swami Dayanand Saraswati
‘(B) Bal Gangadhar Tilak
(C) Vishnu Shastri Bapat
(D) Narendra Nath Dutta

86. The sum of two numbers is 8 and their
product is 16. Then the value of the sum of the
reciprocals is

(A) 2

1
(B? 2
Oy 1
D) 4

87. Which nutrient is a primary contributor to
eutrophication?
(A) Nitrogen & Phosphorous
(B) Calcium & Phosphorous
(C) Magnesium & Sulphur
(D) Magnesium & Potassium

88. A can with 30 marbles weighed 120 gm.,
The same can with 15 marbles weighed 95 gm.
What is the weight of the can?

(A) 25gm
(B) 50 gm
(C) 70 gm.
(D) 65gm

a
t
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’ 9 1
Z +12=|=7
84. 4{ -16+122] ?

(A) 50
(B) 45
() 55
(D) 30

85. (3 “@WTFEAe” ¢Elb TUiva FRTRE ?
(A) TR WY FTTO!
B) I T oo
(€) faze =% -5
(D) TEEAA WS

86. T FIF @IS 8 IR 2T 161 O
SR <17 TR @APCTR AW I
. (A) 2

' 1
B) 3
© 1
D) 4

87. (FI7 ToAima ITEIFme il
AR ¢ S
- (A) WIREITEN G TATAA
C (B) IERIEN @3 IOREA
(C) eI G2 AT
(D) RN @3 =GR -

88. 306 A 7S b ~iitag @ew 120 S|
a2 i15E3 15 T MeT #iTe 9om 95 4 | #lieaR e
To? .
' (A) 25 o
(B) 50 &t

- (© 708

(D) 65 9%
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89. Petroglyphs means
(A) the chipping of rocks to make tools.
(B) the treatment of rocks with petrol.

(C) some substance of a rock surface is
removed through engraving,
chiselling or scooping for rock art.

(D) the treatment of rock surfaces with
petrol before painting on them.

90. Theaverage age of a group of teachersis 35
and of principals is 50. If the average age of the
whole group of teachers and principals is 40, then
the ratio of the number of teachers to the number
of principals is

(Ay 1:2
B) 2:1
© 1:1
D) 5:1 .

91. The Buland Darwaza was built by Akbarto
- commemorate his victory of

(A) Gujarat

(B) Khandesh
(C) Ahmednagar
(D) Berar

92. What is the smallest unit of information?
(A) Bit
(B) Byte
(C) Gram
(D) Hertz

93. The Raurkela Steel Plant was built on the
banks of the

(A) Kharkai River
(B) Brahmani River
(C) Damodar River
(D) Shipra River
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89. Petroglyphs N .
(A) =g i e 2fSara tefd
B) IGE T NIER e |
(C) Fer-spra Ry simd-camiz, (2l @
o EieEs g Fen-Re
(D) (o13fBe-a =iest Bisiia spbeet caidGiceTa
MR e |

90. el Wrwred I T T 35 9FR G
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(A) 1:2
(B) 241
(C)n1:1
(D) 5:1 -
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(A) TR
(B) =it

(C) SRm=sia
(D) ==

92, ST FUCT AT P ?
(A) Bit
(B) Byte
{C) Gram
(D) Hertz
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(B) I Y
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94, Three year 8 classes had the same maths
test. One class of 25 students had an average of
80%, the other class of 22 students had an average
of 75%, while the third class of 13 students had an
average of 61%. Then the average marks of all the
students in the three classes is

(A) 74%
(B) 74-05%
() 123-42%
(D) 123%

95. Whichriver was the Vijayanagarakingdom
situated on?

(A) Krishna
(B) Godavari
(C) Cauvery
(D) Tungabhadra

~ 96, The Asiatic Society of Bengal (founded in
1784) owes its origin to

(A) Sir WilliamJones
(B) Warren Hastings
(C) Sir James Makintosh
(D) James Princep

97. Non-conformity to social norms is called
(A) Social change
(B) Deviance
(C) Social conflict
(D) Struggle

94, fox6 1 8-a 3R sifitex 8w wrfee |
G 25 T FITR 4G 1A B 80%, 7 @ 22
TAT DT G T 257 75% 932 13 SAd WiF (o
FIETE 918 T4 T2et 61% 1 St oAt FER TR
% TFH

(A) 74%

B) 74-05%
(©) 123-42%
(D) 123%
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(B) (iR
(C) FhIa!
(D) wovedt

96. 1784 e AT EIRIRG o= ([@oE-99
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98. Which phenomenon is responsible for the
formation of a rainbow when sunlight interacts in
the water droplets in the atmosphere?

(A) Diffraction
(B) Refraction and reflection
(C) Dispersion
(D) Interference

99. India recently hosted the 13th BRICS
Summit in which city?

(A) New Delhi
(B) Mumbai
(C) Bengaluru
(D) Goa

100. Malpighian Tubules are found in
(A) Respiratory system
(B) Circulatory system
(C) Digestive system
(D) Excretory system

— ~——

A-22

98, I IR e IR A Ui
FACE AL (SR T WM GBI <ot 7

(A) =
B) =iy e afowe™
(C) Rogad
(D) v

99, ST TS (P AT 1389 BRICS 7w
A FRE ?
A) e
(B) I=
(C) =gF
(D) cetimi

100. Malpighian Tubules R *fiew T2
(A) WSt
(B) FRIzTery
(C) AbTorg
D) oot





